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Il Semester B.A./B.Sc./B.Com./B.B.A./B.C.A./B.H.M./B.Sc. (FAD)
Examination, Nov./Dec. 2016
(F+R) (2015 — 16 and Onwards) (CBCS)
LANGUAGE TELUGU - 1lI
Modern Poetry, Drama, Composition and Translation

Time : 3 Hours Max. Marks : 70
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One of the main reasons for the storage of food in India is the alarming increase of
population made it clear that while food production increased in Arithmetic proportion
population goes up in geometric proportion. Another reason is that the Indians do
not adopt the new methods of cultivation. In many areas in our country the farmer
still sticks to his plough and oxen. We do not have modern facilities. Rats are real
hazard to the storage of food. Many farmers do not use pesticides to protect their
crops. Irrigation facilities are not provided. If we overcome all these lapses, we can

develop in all spheres.



